ﬁ % % @ Y Tinh nhan ti cua da thire khbi

Tén: Ngay thang: Piém:
6x” + 36x 15 + 142x% + 184x + 64
36x° — 221x — 20x + 300 2% + 4x
8¢ + 30x° — 23x — 60 48x° — 274x — 817x — 504
X — 6x* — 15x+ 100 =102 + 11x— 18
7 — 49x X — 6% — 5x— 14
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ﬁ i # g Y Tinh nhan ti cua da thire khbi

Tén: Ngay thang: Piém:
6x” + 36x 15x° + 142x% + 184x + 64
6x(x + 6) (5x+ 4)(x+ 8)(B3x+ 2)
36x° — 221x% — 20x + 300 2% + 4x
(9x + 10)(x — 6)(4x — 5) 2x(x + 2)

8x> + 30x° — 23x — 60 48x° — 274x% — 817x — 504
(dx + 5)(x + 4)(2x — 3) (8x + 9)(x — 8)(6x + 7)
X — 6x> — 15x+ 100 ¥ =102 + 11x— 18

(x— 5)(x +4)(x - 3) (x—9(Z —x+2)
7> — 49x X —6x2 —5x— 14

Tx(x— 7) (x— 72 +x+2)
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